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Ist  Year Chemical / Precision Mechanical / Dies & Mould / Food / Petroleum Tech: (New Course)
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Paper: - Applied Physics (Phy – 113 / Phy – 123)

--------------------------------------------------------------------------------------------------------------------- 
Time Allowed: - 
03 Hours. 




Max. Marks: - 100 

Note: - 
Attempt all the questions. Each question carries equal marks.
Q.1: - 
(a)
Write down the names and dimensions of Physical quantities whose units are 



i) m/s2 

ii) Cubic meter 
iii) N/m2 
iv) Joule 


(08)
(b) Prove that the equation S= v/t is dimensionally incorrect. 



(04)
(c)  Horizontal and vertical components of velocity are 10m/s and 5m/s. Find the magnitude and direction of Resultant Velocity. 






(08)



OR

(a) 
What are rectangular components of a vector. Find analytically the magnitude of 
(10)
the components and the angle which the resultant vector makes with the x-axis. 
(b) 
A body starts from rest and reaches a velocity of 20m/s with uniform acceleration. 


Find its average velocity. 







(05)
( c) 
A vector 
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has a magnitude of 3 units pointing towards west. Draw the vector 
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& mention its direction & Magnitude. 





(05)
Q.2: - 
(a) 
State the law of Conservation of Momentum and write down the relation between 
momentum of the System before and after collision. 



(08)
(b) Prove the relation between Angular velocity (w) and velocity in a straight line (v). (08)
(c) Define the following with their S.I units. 





(04)
i) Linear Velocity 
ii) Angular Velocity  
 


OR 

(a) 
Define Static and Dynamic Equilibrium. 





(04)
(b)
State and explain the conditions of equilibrium.




(08)
( c) 
A car of mass 400 Kg and a Rickshaw having mass 200Kg, both possess the same 
momentum of 8000N.sec. Which one will have greater velocity. Calculate their 

velocities. 









(08)
Q.3: -   (a) 
Show that the motion under an elastic restoring force executes simple Harmonically. (08)
(b) 
Calculate the value of acceleration due to gravity, if the length of simple pendulum is (08)
0.25meters and its frequency is one Hertz. 

( c) 
Define work and Torque with reference to Dot product & cross product. 

 (04)
 


OR

(a)
Differentiate between spontaneous and stimulated emission of light. 

(08)
(b) 
What are the different types of Optical Fibre. Explain briefly. 


(08)
( c) 
If an object lies beyond centre of Curvature of a Convex lens. Draw a diagram to show the 

location of image, also write down the properties of Image. 



(04)
Q.4: - 
(a) 
Differentiate between Constructive and Destructive interference of Sound waves.  (06)
(b) 
Experimentally demonstrate how sound waves interfere by a rectangular glass tube. (08)
( c) 
Wave form of a sound wave is shown below. 




(08)




Write down its Amplitude, Wave Length & find its frequency. Can a human ear hear to 
this frequency response, if it approaches with a speed of 340m/s. 
OR
P.T.O
(a) 
How P-type and N-type substances are formed?  




(10)
(b) 
Explain briefly the Domain theory of Magnetism. 




(06)
( c) 
Find the work done by gas in pushing up the piston during an Isothermal process, if 40 

Joules of heat is added to the system. Find also the change in Internal Energy of the 

system. 









(04)
Q.5: - 

Attempt all short questions. All the questions carry equal marks. The answers should not 

be more than 2-3 lines. 







(20)
i. Name the rule to find the direction of vector product. 
ii. Where should be the centre of gravity of uniform meter rod lie? 

iii. Name the principles used in LASER and Optical Fibre. 
iv. Critical angle of incidence of Optical Fibre is 42. should the angle of incidence be less, equal or greater than 42 to get total internal reflection 
v. Name the law of motion, which satisfies the Ist Condition of Equilibrium. 

vi. Write down the relation between displacement in a straight line and circular displacement. 

vii. Two simple pendulum have same lengths one has 50 grams bob and the other has 90 grams bob. Which of them will have greater time period. State reason. 
viii. A tuning fork completes 30 complete vibrations in 1 second. Find the time period. 

ix. Count the number of significant figures in the following. 

i) 0.008 


ii) 5.00
x. Find the force with which the earth attracts a body of a mass of one Kilogram. 

************************

_1396825955.unknown

_1396825985.unknown

